e A ) S CNE

by A
icy C
4 (g) ffx,dxzd
- ~a=-1.b=5§

(b) f_iﬂf‘fdf + f:f’f»fdx =12
4+ fﬂr) dr = 12

L) dr =
J:ﬁndx.:_s

' DA e~ P
3 (@) ~BAI=J3 + & =5 unigs

(b) (i) BC=BA + AC =b+ezc_}
Gi) AD = AB + BD o
:b-—-ZEE'

=4 ...
=4
m=2
Substitute m = 2 into (1):

.
From (2.

2503
12501
25+ = 1257
(52)h~'1 - (5 ’i)p I
52}:«, =5 -3
2h 4+ 6= 3p ~ 3
Pp=2h+9
2h+ 9
3

p=

8 s =5[13 — 3n)

n—l

5 = (13— 3(n — 1)]
-_--%(n—l)(16—3n)
Tnzsl—sn—‘!
n 1
=-2-(13 3n)—5(n—1)(16 3n)
=1_23'. %,,2—%(16"—3,:1 16 + 3n)
B, 3, 1, 3
== n2 2 n+on +8
=8—73n
9 (a) 4
(b) fix)=1 -2
3)=]1 - 203)|
=1 - 6|
= ||
=5
(¢) Whenx=-2, ﬂ")
When x = 3, ix) =

Domain: =2 < X = 3



10 (@) Lety=gW)
=2v—8
2x— 8

2x

v

y+ 8
v+ 8

X =

-

r+8

o

s oy} =
Thus, g ') =—

Lf‘) \l,‘(.\') =2r—8
£ = glew]
=g(20— 8)
=X2x~8) -8

=4y — 16 — 8
=4 — 24
S F)=4(F) - 24=%
6p — 24=30
p=9

11 (@) ffly=x+4x+h

=2+ + (2P - Q2P +h

=(x+2;F—4+h
() Minimum value = 8

h=8+4=12

6+35xr—x<0
6-—-xx+1)<0 ,

x<-l,x>6

13 (@ 2+ @+3x—p=0
a=15b=p+3.c=—p2
Root 1 = a, Root 2 = -

Sum of the roots = — —3—

a+@m=ﬂ@;3
—(p+3)=0
p+3=0
p=-3

Product of roots = —
a

_p2

(b) my* — Snx + 4m=0
a=mb= —5n. ¢ =4m

b = dac
(=5n)’ = dm(An)
250" = Lom’
w25
;f'— 6
(@)= (3)
n! \4
m:n=5:4

14 (@) (1) Whenx=0,y=2
mecosQ —1=2
m(l) —1=2

m=3
(i) When x=my=2
Jcospn — 1=2

3 cos pt=13
cos prt= 1
cos 2 =1
Lp=2
(b m cos px = =3
meospx — 1==-3—1
y=—4

Number of solutions = 1

15 cosa=t
y

L/r]w—ﬁ sino=,1-1?
o - O

0‘ t

(@) sin(180° + a)=sin 180 cos a + cos 180 sina

= — gin:@
= —sina
—-1-1
®) sec20=—1
cos 2a
_ 1 1

T2costo—1 20-1

16 Length of major arc AOD = 2r X 7a = l4ra
Length of minor arc BOC =r x 2a = 2rat
Perimeter of whole diagram = 50
ldra + 2ra + r + r=50
16ra + 2r = 50
8ra + r=25
r(8a + 1)=25
25

8a + 1

e
—



S .
g f(zx Ty =I5+ 3y g,
=9(2x + 3)n+i

—-—‘“_‘\‘_ "
(—n+1)x2+‘
5

20 ~n)  @xtapT

e ‘
2(15_“' I?)(Zx + 3)&1 -1 * ¢

+ ¢

Compmc\‘\“ : p
2(1 — n)(2x + 3y with Zx + 3y ;
= L=35

n=6 m:"l-’ ‘

5 —_—
25y P
p=-1
2
18 , )

1 /’\
Pl —x |
x—"_—'—; 0(12,7)
P@3,1)
2PQ =3RQ
Po_3

RO 2
1(12) + 2(3) 1(7) + 2
Re{ 2w | S0 (h
L 10y
_(18 9y _
_(T’?)_(Ga:;)
19 y:x-i——r—z
X
1 !
(y—x)=r(;)+0
Y=mX+ C-
m=r,c=0 p — 0 =7
ﬁ-_o '
2 1
Sp=—nhr
4 2
hr =10p
_ 10p
or

20 (@) 44+ 10+ x+8+7=40
x+29=40
x=11
Modal class = 40 — 59
(b) The top ten placings are T,,, T,,, T,,, ...

T, =59.5 + %(79.5 - 59.5)
=59.5+125="72

T

40

21

A student has to achieve a minimum mark of
J120

Erica qualifies for the reward because her
marks > 72 marks.

P(1) + P(2) + P(3) + P(4) + P(5) + P(6) = 1|

x+x+x+—l--—x+x=!
16

Sx_E

16

3

= —

16
P(Same numbers) = P(1, 1) + P(2,2) + P(3.3) +

P(4,4) + P(5,5) + P(6.6)

1 1
= + +( XY F fme G i} =
(xxx)+ (xxx)+ (xxx) (‘16 16)
_(xxx)+(xxx)
=524 1
256
:5(i)2+J_
16 256
23

128

o 5
P(Two different numbers) = 1 — i: 10
128 128

22 (a) Number of different ways = “C,

=364

» BOEOE®

Number of ways (Blue cup and red cup are
next to each other) = 5! X 2! =240

Number of different ways = 6! — 240
=720 =240
=480

23 3x=2+3444+5+6=20

=2 +3+ 4L+ 324+ 629

Mean=2'9=4
5
Variance:zi— (x)?
n
=0 _ =7
3
New mean = 17
dm+n=17 ... Q)

New standard deviation = 4.242
my|2 =4242
4.242
m=———=209995 =~ 3

~

vV &=

Substitute m = 3 into ) 43)+n=17

n=5



24 (a) P(X=0)+PX=1)+P(X=2) + P(X =3)
=1
P(X=0)+a+b+P(X=3)=l
PX=0)+PX=3)=1—a—b
PX=0)+PX>2)=1—a—b

27
(b) P(X=0)= —
( ) 343
2.7
C.PHA - pP=—r
o @) ( p) e
. s _ (33
1 X 1% (l p)_(__.}_)
3
1'-' — -
i 7
a4
7

25 (a) P(X < h)=0.5 — 0.2881
P(X < h)=0.2119
P(X < -0.8)=0.2119

h=-0.8
(b) X =588
X—p 588 —p
o o
- 588 —pn
=) 4
58.8 —
i 4
588 — pn
—0.8 = 7
-3.2=588-p

w=>58.8 + 3.2=62



